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0242 FE 25 g Hih 0.28 1844 02
0242& 25 L+ /HT FAI7ILE 0.07 1704 05
0242 FE 25 /BT 12 Hh 0.09 1705 02
028 & 25 /8] b F 0.11 1705 03
0242 F 25 SREA LU Eih 0.17 1750 01
0242 & 25 HER FAI7ILE 0.06 1612 04
0242 FE 25 HER FAI7)LE 0.07 1658 04
0242 & 25 B/ FAI7ILE 0.07 1658 01
0242 F 25 3= ;h FAI7)LE 0.07 1657 03
0282 F 25 ki FAI7ILE 0.14 1657 01
02%2F 25 B/ T FAI7)LE 0.08 1704 04
0242 & 25 J\ER FRXI7I)LE 0.07 1659 02
0242 25 EHIG FAI7ILE 0.08 1658 03
0242 & 25 EFIZ FRXI7I)LE 0.07 1659 01
0242 & 25 H/N FAI7ILE 0.07 1657 02
0282 & 25 /A FAI7ILE 0.06 1658 02
0242E 25 R Bih 0.08 1751 01
0282 F 25 R4 Bih 0.07 1751 02
0242 = 25 PR 2 Hh 0.16 1751 03
0282 F 25 R4 FAXI7I)LE 0.07 1797 02
0242F 25 R FAI7ILE 0.11 1797 03
0282 F o= £IART Eih 0.08 1516 03
0242 HEFH £ A BT avy)—k 0.09 1516 04
0282 F o= fa FAXI7I)LE 0.10 1564 02
0242 = B FAI7ILE 0.08 1564 03
0282 F D= EE 311 FRXI7I)LE 0.09 1517 04
0242 F = BL FAI7IE 0.10 1516 01
0282 F o= w1 BT FAI7I)LE 0.11 1516 02
0282 FE REF — &4 FAI7IE 0.07 1610 01
0242 & NEF —ZKA FAI7I)LE 0.06 1610 03
0282 FE REF HEE FAI7IE 0.06 1609 01
0242 F NEF HREE Bih 0.05 1610 02
02%2F REF HEE FAI7IE 0.05 1610 04
0242 NEF IR TFAI7ILE 0.07 1611 03
0242 FE REF E/E FAI7IE 0.06 1563 05
0242 & NEF BRFIE FAI7ILE 0.13 1656 02
0242 F REF R/KN FAI7IE 0.07 1611 02
0242 NEF =% FAI7ILE 0.07 1564 01
0242 F AEF BT/N 2ih 0.08 1564 04
0212 & NEF BT/ N FAI7I)LE 0.07 1611 01
0242 F ERNEF =0 FAI7IE 0.21 1565 01
0242 F ENE B/ KA 2 0.09 1612 02
0242 FE ERNEF A7) FAI7IE 0.07 1612 01
0282 F ERE /N FAI7ILE 0.07 1566 03
0282 F ENE i FAI7ILE 0.08 1613 02
02423 ENF X 14 FAI7ILE 0.12 1517 01
0282 F ENEF HE FAI7ILE 0.13 1565 02
0282 F EXH HE FAI7ILE 0.08 1565 03
0282 F ENE —_YAa FAI7ILE 0.10 1613 03
0282 % EXH KRk H FAI7ILE 0.09 1612 03
02%2& K A HE FAI7ILE 0.09 1703 04
0242 E K$F N HE FAI7ILE 0.10 1704 01
0282 F RiE 1T ARI Hifh 0.08 1749 02
0242& K$F T AR b F 0.10 1749 01
02%2F ®RTF RO 2ih 0.09 1704 02
0242 E Kz RA 2ih 0.06 1704 03
02%2F KiF EKH b 0.06 1703 03
0242 E Kz = 2ih 0.07 1657 04
02%2F ®RTF = 2ih 0.08 1657 05
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028 & KiF i b Fl 0.16 1795 01
0242& K 8/ E b F 0.07 1796 02
0242& KiF B/ E avoy)—k 0.06 1797 01
0242& K & F 0.09 1750 02
0282 F KiF w/A F 0.08 1750 03
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